R REBRRE

BRSH

NEAETE
I E(T L)

MIULME (RFEERED @ 360°)
B K

PR

RATEEM

PRIEE KRR
1R E A R R
PRIFEE N R G AE FBIHER
BEERXNREEBILER
AHESHERNERERK

MTTFd / MTBF

HEEBEE
THRARERIRFE(typ.) REER
T AR BRBAFE(typ.) BEERX
i H &/ B PR
MHRKXBRAH

BB R AR M R A AR A

HE RS ERE

BREGEEE

REESERE

BREGBET

TR

HWEBSERETR
BRELEBRBE TR
REBSEETR
BRELUBBE TR

PSS I

P AT E

B &5

RNFa

T EA i 1708 B (4 40)

T AR 1738 B (7 [B 2 R 4%)

IEC 68-2-6 #&3) (Amax =0.75mm, f=5 ... 2000 Hz)
IEC 68-2-27 i

HEtRk

EN 55022 class B, Emission radiated (30... 230 MHz)
EN 55022 class B, Emission radiated (230...1000MHz)
EN 61000-4-2, ESD (contact discharge / air discharge)
EN 61000-4-3, Immission HF radiated (80... 1000 MHz)
EN 61000-4-4, Burst (on all lines)

EN 61000-4-5, Surge (lines to ground)

EN 61000-4-6, Immission HF conducted (0.15...80MHz)
EN 61000-4-8, Immission magnetic field (50Hz)

IEC 60393-1 Insulation resistance (500VDC, 1bar, 2s)
IEC 60393-1 Dielectric strength (VAC, 50Hz, 1min, 1bar)

% of meas. range
% of meas. range
o

bit

kHz
kHz
us

us
ppm/°K
years
vDC
mA
mA
kOhm
nF

mm2

mm2

mm?2

mm2

movements
°C

°C

9

dB(pV/m)
dB(pV/m)
kV

V/m

kV

kV

Vemk
A/m
GOhm
kV

MH-C

0...360

+0.3

0.5

0.1

12

0.1

(5)

1.66

(800)

4600

50

668 / 668

5 (x10%)

(14)

9

10

100

yes

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
IF68

no limitation

-40 ... +125

-40 ... +85

50

200

max. 30
max. 37
+4 /8
30

+1

10
30
20

MH-C2

0...360

+0.3

0.5

0.1

14

0.1

@

0.5

(800)

2500

50

308 /308

5 (x10%)

(15)

10

10

100

no

Wires (3x)
0.56 (AWG20)
Cable 3pole
0.56 (AWG20)
yes

Wires (6x)
0.56 (AWG20)
Cable 6pole
0.25 (AWG24)

360 (continuous)
IF68

no limitation
-40 ... +85
-40 ... +85
50

200

max. 30
max. 37
+4 /8
30

+1

+1

10

30

20

ii

Vert-X 37E - 5V / 10...90% Ub

B A

Rl LA
B
ol L4
BHRARER

4 &= general

B ER P68
FEAFRI
XN E S
REWFw

EREIE
EEFETHENA
CRE,ER, AL IR ZF.)
EREESAETENSS#
RN EH

%R MH-C
7 PR 12bit
LEMH-C2 EBE

= MH-C2

7 PR 14bit

#Re|IR, ERAFANAETR
E/MRIE (i)

CONIELEC

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



fol kg3
Y B /R 6
EM#E CWW{E1 3 Wik &4 4pole
EMBE COWTik2 5 ¥Rt 44 3pole
_.jL:%' ERBE CWEJJ%3 7 A% %4 5pole / 6pole
TUR, E@#E CCWAlikt4 O W A5 B A B 128
MR, XRXESHETIES A -
EEHEE CW #1887 50 4t AT 8 A = .
ERBE COW #1887 X B iH- T8 S B spole
IE 64 B CW 5288 JF < i ATt C 6 Wik A B 6pole
IE @88 E CCW 2% FF < 4 i * Al £ D 0 T 45 Bk B NS TR S
BEFE 58 TR E AIEE
ERMAE S [ AR EWILF
o AR AER 75 B AR TR G BgKE
I R JBERR 5 @ W IR E " EH 01 &% 10cm
A 42 Vert-X EasyAdapt &P 03 3% 30cm
05 #5# 50cm
HWHES 99 Wk B KE
10% ... 90% Ub Standard 2
x% ... y% Ub (within 5 ... 95%) Optional 3 BEKE
02 #7f 1.0m
06 A[i% 3.0m
HEBE 10 3% 5.0m
5VDC Standard 2 99 Tk KR E
Vert X 3 7 E 4 7 3 6 2 2 5 0 5
BEEA
36HRAE S A360°
xxA] %03 to 35; Declaration in 10° steps
QORI HBIEA
ERBRE
7 MH-C
8 MH-C2
HLAR 45 M AR A<
37E1 Wik @R R % size 13 ; MR TN Mtype 1
37E2 ik A IR L $Esize 13 ; Wit 1T H Mtype 2
37E4 R R R $Esize 13 ; BAMEHITHL type 4
37E9 Wik BB R BB RTIG
MH C MH C2
AT $IREE AT AL X X
T Bl = X X
1T il BB 85/ 4% X X
#0Ox% ... y% Ub (within 5% ... 95% Ub) X X
PRIE A KA R X X
FFRINBETTL (max. 2) X X
B M& X
HSERESE A SBE30° to 360° (BAI) X X
BREATRE (R4) X
BEKMA[TIRE @FHNLH) X
HEFE 75 MICW/CCW RI&JE / A48 (BN K E R M) X
X

Re|]ARE/ AR (BN LS R AF)

TEL:400-900-8812 3BT : 18017400327

wWww.jjx88.com

A

3

="
RS
|c

Vert-X 37E - 5V / 10...90% Ub
iTa s

i ]

BENL—MEF(HRK 127), LB
3 E Bk

ik (REEFER)

CONIELEC

luck@jjx88.com



Einbaumass ~ Ltdz
working position 16
M5 S ini
- 21, 8
\ —H3 16
o < Hir -
o 1 [ —
Lo [ | o
g =
B & AT
e T ¥~
™ Tl
Ty TH
r S
|l ] #hTiefe 5 12
g 26 19, 4 |
Finbaumass ¢ il i, s
S 13 working posilion |4 g
21,8
AT T4 16
5 o U -—
ST I
ST Rl @ —
RCIR NS |11y B S
SO A r Y
l ol TH
| e . 3
gh Tiefe b 12
826 24

|
i &

L

c

i,i._

Vert-X 37E4 xxx xxx 5xx
Vert-X 37E4 xxx xxx 7xx

B2 4 (incl.)
1IxBEXRF
2x g S H IR £ M5x12

TAELE(Z) A BTG
BRIV
SEREEFR

Vert X 37E4 xxx Xxx 4xx
Vert X 37E4 xxx XXX 6xx

B2 #(incl.)
1Ix BEXRF
2x G S E IR £ M5x12

THRMEZ) R BERTHN

BRAAFHE
SERERFER

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



Finbaumass ~ [rdz
W1 working position 1,6
M5 ==
EREEEil 77
|77 | 1 =] 9y
o CHE 1
s TH 1
Y Nyl
= 4]
_\4®5Tief95 12 165
. 826 19,4
. Finbaumass [ #dz .
.;SW 10_‘_ working position | 1 g
| | 4
Q — - o8
Y e — 1T >
) ©- o1 <CHAR F?
R/ B PN 2| : 2| €
/ | ‘ a Y _L
| @ ) e 1 Ul [
N 2| !
W/ o BiRil 1
| sy n
\m/ V==t 1
#5 Tiefe 5 g2 10,2
g 26 24

-

L

i.i_

Vert-X 37E1 xxx xxx 5xx
Vert-X 37E1 Xxx Xxx 7xx

B4 (incl.)
IxBERT
2x g S E IR 42 M5x12

TAELE(Z) M Bt ATHLG
B R AV
SERERR

Vert X 37E1 xxx Xxx 4xx
Vert X 37E1 xxx Xxx 6xx

B (incl.)
1Ix BEXRF
2x TR EL S IR 4 M5x12

TEALE(Z) M B ERT I

RARFH
SERERFER

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



Einbaumass / tdz
working position g
1 6_"_“‘_
=M5 i NE
) “THH o
u—) OZ} |7 1 ‘l II‘H “ Jl J
" = —
g R
<8 sHAS aka my wil ig
- AT o
™ 1H
" S‘r _el’- :_
. - 10,5
o | @5 Tiefe 5 T2 MEREN
. #25 19,4
Einbaumass ‘Z +dz _
3x M3 warking position B
—q— ’IJEJ = <=}
= |3
T T o HE =
o] 5
L[_) Dg_ r 1 ‘l H‘II ‘F k
" | | o0 ”__u (\I“Lo
ST N 1] ";“—[_Q_— Qs
s o) e HIE O 1 Ty
- P
™M JT 1
| =y nui
—+- = 10,5
| 5 Tiefe b 12 NN
g6 24

Vert-X 37E2 xxx xxx 5xx
Vert-X 37E2 xxx xxx 7xx

B2 4 (incl.)
1x BEXRF
2x W AE AT SR 4 M5x12

THRME(Z) M #ERAT I
RRAFHE
SERERFER

Vert X 37E2 xxx Xxx 4xx
Vert X 37E2 xxx XXX 6xx

B2 (incl.)
Ix BERF
2X W AE R R IB L M5x12

THEMEZ) M #ER T

RARAFHE
SEREER

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



=
| :

Vert-X 37E4
TERER
THLEQZ)
= MH-C 3.85mm
—+I MH-C redundant 4.35mm
e MH-C2 3.85mm
J MH-C2 redundant 4.35mm
BMERATH R K R FEIL
dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E1
REER
THEME(Z)
MH-C 4.95mm
MH-C redundant 5.45mm
MH-C2 4.95mm

MH-C2 redundant 5.45mm

/ Iidz

BT R K AL

dx +0.25mm
dy +0.25mm
dz +0.5mm

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



ZRER

THEMNEEZ)

MH-C 6.45mm
MH-C redundant 5.95mm
MH-C2 6.45mm

MH-C2 redundant 5.95mm

ST

BT SR K R VF4EL

dx +0.25mm
dy +0.25mm
dz +0.5mm
Vert X 37E

EE X

CONIELEC

A company of the Siedle-Group

TEL:400-900-8812 4B : 18017400327 www.jjx88.com luck@jjx88.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7



